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idOrn>10000
Z/nZ ={a€Z|0<a<n-—-1}, (Z/nZ)" ={a€Z/nZ]| (a,n)=1}
000O¢(n) 0 (Z/nZ)*000000000
00.100p00000(Z/pZ)* ={1,2,....,p—1}0000 ¢(p)=p— 1.
0 0.2 (Z/122)* = {1,5,7,11,}000 0 »(12) = 4.
00 0.3 n=29"p%...p& 0 n 0000000000

p(n) =2 TpPTps et (= D)(pa — 1) -+ (pr — 1),

gooooooooD.
Ud 04nb000O0ecUdnO0O0O0O0OO0OOOOOONO
a?™ =1 (mod n)
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OO0 05 (00000 (Fermat) D0 00) « D00 pO0OOCOCODOOOOO
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a’~' =1 (mod p)
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00 07 a, b, c000,n000000,n0 00000000000, O
O000,ac=bc (modn)000,a=b(modn) 00000.

gg.ggoebbbib0x,yOcx+ny=10000000000. 000,

a = acx + any, b = bcx + bny

O00.000,a-b=(ac—bo)x+ (ay—byyn 0000, 00000000
On000000.000,e—-00n000000. U
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(1) a =1a (mod n).
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(3) (a,n)=100 ab=ac00 b=c0000
0O0.(1)0(2)00000000000000@G)000o0700000000
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{a17a27"' 7a'p71} = {a—alaa—aQ7 7a—afr}
0oo.o0o00,
a1 Qg ---- a, :a—alla—alz ..... aa,
— a'f'all .a2 ..... ar
=a"(a;-ag- - a,) (mod n)

000. 00020000003000000000080000(a;,n) =1
(1<i<r)000 (M, a-ag - e,)=100000000000.700

a”" =1 (mod n)
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0 0.9 pg0 20000000. (a,pg) =1000,

a®P Ve = 1 (mod pq)

00.000300 opg)=(p-1)(¢g—1). 00000000 04000000

0010 p=71000,e=16660 710000000. 00O,
1666™ = 1 (mod 71)

0011 p=71,q=9700,n=pg=68870000. 0000, (p—1)(g—
1) =6720. ¢« =16870000, 16870 71,97000000000

168752 = 1 (mod 6887)
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[1]000n,00000¢(n)=12000000000
(1) n=29%"000n=2%" (p,q>2000)0000000000
(2) n00D00O0O0O0000O0O000003-7,2-3-7, 22.32, 22.7, 13, 2-13

0000n=29%p%...p» 0 n 0000000000

p(n) =2""pPpg =t pHpr = (2 — 1) -+ (pr — 1).

20 0000000000O0O0O0O0O0O0O0OOO
r0000000000p>202*°+100000p=1 mod40000

0000000022 = -1 modpO00000000 2* =1 modp OO
O00000¢t=1,2300000002'#1 modp 000D OOO00OOOO
O0z=1modpO0 22 =1 modp 00001 =~-1 modp DOOODO
p>200000000000O00000p—-1040000004¢00O0O0O0O
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000000002'=1 modpO00002"=1 modp 00000000
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0000000000000y, pay -..,p, 00002 = (2pips---p,)%+10
000¢0«00000000200¢=1 mod40000000000a
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